wx Ws et
oSl g gy 508 g pgadl Apaits)

u&-’ 21y paedd dgad
IAPSE I AWERE 1 -'Lu.:.u.it

2016 5253 Buse « Al BN g uall Babpds ) s gall adlBY) laia¥t Jagiil g praseas

i1 i 2 s alaalt |l gdela dgagiead | Gl ;

| 4B

H(016) bt g s Yl
02)(<) 34 Juaniuly 81 ) el Cpa A sl (1
-‘;- <6.09<9 <959

(bii8) b e adlg aa (2

(&is3) (8653-6843.9)+6715,13 = 8524,23
(Hai3) 2835%453 = 1284255
(Lais2) 12209+ 84, 2=145
(B852.5) 1 L qual(z
= 22 11
PGS -H)= 21

(k3.5 ) rdllce-q
300km-+(14h-10h)=75K11/, - o & jlaull o3 jsud U i e ol

Hc11) Asted — Ll
(=i2) 70° Lk AOB 4315 pus 1
(J=ki3) BD=2,5¢cm JAC=5cm <uABCD Cime au 2

(,1,9.,3) Cilagy _,m danh (D)d:u& 3 ,ul Sl Agcms &a.“ A' c*c_m - ,3

5" - : o %
i § o oo | i : : : ; ; ; ! | 1 ‘ : 5 :w §W s M-wi:.._ G
(=2:3) 15 X (2x15)= 450 M2 4 dua ;Y1 Gndaill o3a Galuse -4




(=532)

(=i2)

(=53)
(=:3)

(,Adaiiq 3) z ulglll- 10
phiba uani-
35 cmd4000 mm 0,004 hm =4.750 m
0,5 q. 85hg 36009 =62.1kg
3.4km? 950dam® =34,950hm?
1,03m3 380000cm®=1410dm?
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